(9] - )

A S == A5 AU S 20143 (A) | 20139 B) | TH(A-B)
A 63,547,985 63,605,471 A57,486
63,547,985 63,605,471 A57,486
2ZZFS 60,217,328 60,232,967 A15,639
48,615 40,515 8,100
o 27} 3} 11,700 18,025 76,325
ZAAaxg 11,700 18,025 26,325
1. AR FFIdUnsEd 9,700 16,325 26,625
7h A A FAS 8,500
1) Adg= 210-01 20,0009 X 25% x 23] = 1,000
2) A=A 2 210-01 |5,0009¥ X 300%-= 1,500
3) A= 210-04 [6,0009 %3009 = 1,800
4) A a 210-07 |600,0009 x7t= 4,200
U Aa - uSEd 1,200
1) w470 210-01 |300,000¢ x 29 x 23] = 1,200
2. A F T AP R 3AS 2,000 1,700 300
7k ARA T AR 2,000
1) W=7 210-01 |1,000,0009 x 2= 2,000
29,830 18,390 11,440
2713 7,540 7,660 A120
1. 2 I AA| LI A 7,540 7,660 A120
7t WA EA 7,540
1) So9ex 210-01 20,0009 X 45% x 43]= 3,600
2) 28] 210-04 |7,0009 x 209 x 93] = 1,260
3) A5 210-06 |50,0009 x 37 x 43]= 600
4) AES 210-06 40,0009 x 37 x 43]= 480
5) EAS 210-06 40,0009 x 37 x 43]= 480
6) MRS 210-06 40,0009 x 79 x 43]= 1,120
T YQAALH 21,820 10,730 11,090
1. QAR 3 2,800 2,440 360
7F AL A 3 2,800
D Sojax 210-01 |20,0009 X 10% x 23] = 400
2) A=) 210-06 |80,0009 X6 x 53] = 2,400
TG - Fold2FE5uSg A8 — WAJAME — w A 1/45
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Abd Wi < == A5 AU S 20144 (A) | 20139(B) ZH(A-B)

2. AN A3 LY 1,530 2,160 £630
7t A A2 8 1,530
1) #FXFg 210-06 |80,000¢ x5 x 33]= 1,200
2) &9]3] 230-02 15,0009 X 117 x 23] = 330

3. 245N dg st 3,690 2,100 1,590
7h w5 =N 7 (A ) 790
1) 98+ 210—01 [20,0009) X 5&= 100
2) AN 210-06 |80,0009 x 39 x 23] = 480
3) d9l3 230-02 15,0009 X 77 x 23] = 210
v w5 (&) 2,900
1) +98% 210-01 |20,0009 x15% x 28] = 600
2) A5 A2 210-01 10,0009 X 50%* x 23] = 1,000
3) A 210-06 |80,0009 X7 x 23] = 1,120
4) 9|3 230-02 |15,0009 x 129 = 180

4. ZHMYFF3 13,800 4,030 9,770
7 2S5 YA S 8,200
D 98+ 210-01 (20,0009 X 10% x 23] = 400
2) AETT 210-06 [40,0008 %134 x154= 7,800
[ TA IS P B R 5,600
1) $ojg= 210-01 |20,0009 x 20% x 23] = 800
2) AESTS 210-06 (40,0009 x10W x 129 = 4,800

AHA 23 470 0 470

1. €3 (YY) ZAE Y 470 0 470
7} &3 WA 470
1) 9% 210-01 [20,0009 X5%F x 23] = 200
2) 93] 230-02 15,0009 X9 x 23] = 270

2,080 2,100 A20

HJAARE 2,080 2,100 A20

1. A3 FdAA#E A I 2,080 2,100 A20
7F. QARSI A g 2,080
D #AA 43 210-06 |80,0009 x4 x 53| = 1,600
2) 93] 230—02 [15,0009] x84 x43]= 480
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4% A (9] - )

)=
ﬂgd: ARSI CREA AN 20149 (A) | 20139(®B) | Z7(A-B)

A QAL 3,005 0 3,005
B A T+ QA A7 3,005 0 3,005
1. 3 & &# = 3,005 0 3,005

7t ol obd ZEARRIALS] ¢ 8] 750

1) $ogx 210-01 |20,0009 x23%]= 40

2) Aok 210-06 |80,000¢ x 27 x 23] = 320

3) d9]3 230-02 15,0009 x 137 x 23] = 390

L oA AR A S 2,255

1) A-8F 210-01 15,0009 x 115 x 33]= 195

2) A2 A = 210-01 18,0009 X 100%= 800

3) dug 210—01 [14,0009 X 2.5 X 2|7k < 3 = 210

4) Z¢ALr (A ) 750

7h 75 210-06 |160,00049 x 3= 480

W) 3 210-06 90,0009 x 374 = 270
) 9} A}7) A = 2,000 2,000 0
THAAEX A Y 2,000 2,000 0
\1. AR F3.339 2,000 2,000 0

7F A s gs A 2,000

1) =339 240-01 |200,0009%x10¥= 2,000
1,715,452 3,686,518 21,971,066
kA= | 108,190 73,690 34,500
=% 13,695 8,245 5,450
1. Z=a8534$9 3,000 4,160 A1,160

7t A A w| o) =21 2 3,000

1) =8 620-03 |1,000,0009] x 331.= 3,000
2. 2ETSHAELIAS 8,805 2,960 5,845

7 WS A 4,265

1) d5e= 210-01 |20,0009 X 5% x 33| = 300

2) A5 A2 210-01 10,0009 X 70%* x 23] = 1,400

3) 7kAu] 210-04 (13,0009 x 707 x 33]= 630

4) ZIAbr (AR 1,350

7h 7]E 210-06 100,000 x 39 x 33]= 900

- EEFYALLD - BEA L

Rl
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R

AU S Lo ] & A=Y 20149(A) | 20139 B) 7ZH(A-B)

W) %3 210-06 |50,000¢ x 3 X 33]= 450
5) g3 230-02 [15,000¢9 X134 x 38 = 585
S A RS R R 4,540
1) S99= 210-01 20,0009 X 5% x 33] = 300
2) AXAE S} 210-06 70,0009 xX551= 3,850
3) ¥ol3 230-02 |15,0009 X139 x 23] = 390

3. TTALFHAAXIAF 1,890 1,125 765
7b S A 810
1) Adg= 210-01 20,0009 x10%= 200
2) 41w 210-01 [14,0009 x 2.51)] X 4A] 7k= 140
3) AL () 110
7h 7= 210-06 |70,00091 X 18] = 70
) %3 210—06 40,0009 x 13 = 40
4) ¥ 9l3 230-02 |15,0009 x 12 x 23] = 360
= A U R RS 680
1) AXE S} 210-06 70,0009 x 47§ x 23] = 560
2) &3 230-02 |15,00091 x 81 = 120
= S R I eR S s g B S e 400
1) AETY 210-06 [40,000€ x5 x 23] = 400

IHAABNEEF 35,995 30,225 5,770

1. A8 A o w A Lk R 5 35,995 30,225 5,770
7} AFE A o St AR R 35,995
1) S99= 210-01 |20,0009 X 10% x 83 = 1,600
2) ol n 210-01 | 3,3009 x 3,300% % 23] = 21,780
3) Atsla 210-01 20,0009 X57%= 1,140
4) A& 210-01 10,000¢ x 120%= 1,200
5 d1w 210-01 14,0009 x 2.5u) X 25X k= 875
6) AR & 210-01 30,0009 x100%:= 3,000
7) AL 210-06 |40,000¢ x 20 x 83 = 6,400

ARSI R B R 56,420 34,220 22,200

1. denSA4 50,000 30,000 20,000
7F A A AAEREY 50,000
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(9] - )
AU o S-A= AEY 20149 (A) | 2013d®B) | SH(A-B)
1) @A AA] 1,560
7h <1a4H] 210-01 2,000 x 450%- x 13] = 900
) Sdex 210—-01 (20,0009 X 5% x 33]= 300
th A 210-06 |40,0009 x 37 x 38| = 360
2) 71ZNkeY 1,800
b e eE 210-01 |20,0009 X 407 = 800
IBSRCISA TN Py S 210-07 |20,0009 %5 x 108 = 1,000
3) A}k 26,640
7} 7] Zur 310-01 |600,0009 % 3% x10€= 18,000
b it 310-01 [360,00091 x84 x 39 = 8,640
4) k- 17,680
7h &9 8% 210-01 |20,0009 X 60 x 2% = 2,400
W} gEe) 210-03 |200,0009 X 607 = 12,000
th AR A= 210-07 |132,0009 %129 = 1,584
th EE 430-01 |1,330,0009 X 1tj= 1,330
b 571787871 430-01 366,0009 x 1tj= 366
5) A =AF3] 2,320
7h 2w 210-07 |600,000¢ x 2t} = 1,200
) Z7iAp2In) 310-01 |7,0009 x80% x 23] = 1,120
2. AN ST EX ¢ 6,420 4,220 2,200

AR RS- A e e R 1,980
1) A5e= 210-01 |20,0009 x 175 x 28] = 680
2) Az A2 210-01 |10,0009 X 50%+= 500
3) AR (AW 00
7h 71 210-06 160,000 X1 x 23] = 320
W) =3 210—-06 90,0009 X 17 x 23] = 180
4) 3293 230-02 |15,0009 x10% x 28] = 300
L, gote 3] 1,140
IDEERSEE 210-01 |20,0009 x 12%= 240
2) AFE A= 210-01 |10,0009 X 50%-= 500
3) AFEn) 210-01 10,0009 X 40%= 400
th X% 259 800

- BE-SEREAN - AFAY AL - FAAY LKLY
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247 (9] : A9

)=]
s RENE =A% Az 20144 (A) | 20139(B) | Z%(A-B)

L E 210-01 |20,0009 X 20% x 28] = 800

gh T ENSTEE Y 2,500

D T2 210-12 |50,00091 X 10% x 28 = 1,000

2) nYTZ AMe 210-12 |250,0009 X 3% x 28] = 1,500
EAF SR LY 2,080 1,000 1,080
1. 838w sdx 9 2,080 1,000 1,080

7h Al g B AL 1,080

1) 98 210-01 |20,0009x9%F x 23]= 360

2) A}k 210-06 |40,0009 x 3% x 53] = 600

3) &9]3| 230-02 15,0009 x 8% = 120

L At s R A AU E 9 A2 Y 1,000

1) $9¢= 210-01 |20,0009 X 5% x 33]= 300

2) 7} A1) 310-01 |7,0009x 107 x 103] = 700
40,810 28,404 12,406
AT AR Q 15,650 6,360 9,290
1. ZAEAANA Y 15,650 6,360 9,290

7h nAdFd AT 6.740

1) d5&8= 210-01 [20,000€9X41F %x23]= 1,640

2) AFE A 2 210-01 |7,0009 X 200%- x 28 = 2,800

3) duz 210-01 |14,00090 x 2.5 X 1042t % 23] = 700

4) AR (AW 210-06 |160,0009 X 5% x 23] = 1,600

L TS Rt i B R R o 750

D *98% 210-01 |20,0009l % 9% x 28] = 360

2) &3 230-02 |15,00091 X 13% x 28] = 390

th A A G EQ ETAY 1,280

1) +98% 210-01 |20,000¢) x 12% x 33]= 790

2) ) 310-01 |7,0009 x10% x 83]= 560

ek A F AN o L skl 2,280

1) A58 210-01 |20,0009 X 20% x 23] = 800

2) 98 210-01 |14,0009 X 2.5 x 8| 7k= 280

3) AR (AR 1,200

7h 7)1 210-06 |100,0009 x 47 x 28 = 800

SedeAd - SHAAE - wAFAAAAY 6/45




Ak CREEE)
AF A= E 20143 (A) | 201394 (B) | T (A-B)

W) %3 210-06 |50,000¢ x 41 X 25]= 400

vk wAFAIRA AL 1,400

1) $ojg=x 210-01 20,0009 x5 x 23] = 200

2) AXE S 210-06 |40,0009 X127 x 28] = 960

3) & 9|3 230-02 15,0009 x 8™ x 23] = 240

vk WA IR s ok - 3,200

1) 258w (1) 620-03 |1,600,000¢ = 1,600

2) Tgw (1) 620-03 |1,600,0009= 1,600
SHFLA A 25,160 22,044 3,116
1. $FAFAA Y 5,160 2,044 3,116

7t T AA T 940

1) $98% 210-01 |20,0009 x 5% x 23]= 200

2) g 210-01 |14,00091 x 2,57 x 23] = 70

3) ZAAtrE (LR 210-06 (70,0009 x 27 x 23] = 280

4) ¥2]3) 230-02 |15,0009 x 137 x 23] = 390

. 2E st dAs 4,220

1) S98% 210-01 |20,0009 X 10% x 43] = 800

2) 721 210-04 |3,0009 X 60 x 43]= 720

3) d1x 210-01 | 14,0009 X 2,51 X 8] 7k= 280

4) AR (4R 2,000

7h 7] % 210-06 |160,0009 x 27 x 48] = 1,280

W) zv 210-06 90,0009 X 2% X 43]= 720

5) 893 230-02 |15,0009 X147 x 28] = 420
2. g nER Y 20,000 20,000 0

7h Aol EdZE e 20,000

1) $98% 210-01 |20,0009 X 19% x 53] = 1,900

2) A=A 2 210-01 |9,0009 X 120% x 47} %= 4,320

3) ¥ 9]3 230-02 |15,000¢ x 47 x 33]= 180

4) =8+ (21) 620—03 |6,800,000¢ X 2i= 13,600
N | 33,390 41,340 A7,950
Rz AT XY 33,390 41,340 A7,950
1. ZGA R EADLNRF 3,940 4,430 2490
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(gl - A9

AFelu) e 2= AEU 20143 (A) | 201394 (B) | T (A-B)

7h HA A 7| A 2 3,940
1) 9= 210-01 |20,0009 X 5%= 100
2) A=A 2 210-01 [10,0009 X 360%-= 3,600
3) AES 210-06 |40,0009 x 6= 240

2. AME R 28,210 33,010 £4,800
7h A" AT 12,300
1) $98= 210-01 |20,000¢ x 25F x 28] = 1,000
2) A=A = 210-01 |10,000€ X 100%*= 1,000
3) AME S 210-06 |70,000€ X609 x 23]= 8,400
4) ekl ddr 1,900
7hH AAA ] 210-04 |7,0009¥ %100 = 700
W) 2t 210-07 [600,000¢ x 2= 1,200
b S50 SO0
D Soax 210-01 |20,0009 X 15% % 28] = 600
2) A=A = 210-01 10,0009 X 80%= 800
3) AAXE S} 210-06 |70,0009 X507 x 23] = 7,000
th AR ES ZF AT 3,530
1) dF9E 210-01 |20,0009x19% %x58]= 1,900
2) A=A = 210-01 |5,0009 X 50%= 250
3) duz 210-01 |14,00091 X 2.51) X 2|7k x 33] = 210
4) Z3Atd (LR 750
7h 7= 210-06 |160,0009 x 3= 480
W) 23 210-06 90,0009 % 39 = 270
5) ¥ 9] 3 230-02 15,0009 X 147 x 23] = 420
oh X AAd e gst 3,980
1) AXE Sy 210-06 |70,0009 X 257 x 23] = 3,500
2) ¥293] 230-02 |15,0009 x16% x 28] = 480

3. wAYAFEZ A%L3 1,240 3,900 22,660
7 AL AT A A %3 1,240
1) &9 210—-01 |20,0009 x13%F x23]= 520
9) o3 230-02 |15,0009 x 12 x 48] = 720

frotw S % 33,327 27,745 5,582
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AF S—A5 AEU 20149 (A) | 2013 (B) 7 (A-B)

e 33,327 27,745 5,582

1. 4dasdgeg9agn g s 5,952 6,065 A113
7h oS A AT R 1,560
1) A=Az 210-01 |12,000€l X 130% = 1,560
L frobgA o st S E-s AR 3,000
1) A=Az 210-01 10,0009 X 180%= 1,800
2) AESFY 210-06 |40,0009 X 157 x 23] = 1,200
= MR R R N R ] 1,392
1) o1An] 310-01 |116,0009 x129= 1,392

2. S YT SZIRUTFER TS 2,300 400 1,900
7}, SHR T S 2,300
1) AL Z 210-01 |20,0009 % 7% x53]= 700
2) Y8 210-01 |14,0009 X 2.5 x 34| 7} x 23] = 210
3) e (4R 750
7hH 7)1 210—-06 |160,0004¢ % 17 x 33] = 480
W) %3 210-06 90,0009 x 17 x 33| = 270
4) AAdlAw 210—-07 |640,0009 % 13]= 640

3. 9X QAN WA A LT 3] 9,075 5,280 3,795
4 T = B e R A s R R 6.675
1) AFeE 210-01 |20,0009 X 17% x 53] = 1,700
2) 2pE A 2 210-01 |10,000€1 X 20%" x 43| = 800
3) 9z 210-01 |14,0009 % 2.55 X 11A]3k= 385
4) 2n] 210—-04 |7,0009 %1207 = 840
5) A (R 1,000
7hH & 210-06 160,000 X1 x43]= 640
W) x3 210-06 90,0009 x 17 x 43]= 360
6) 227 210-07 |600,000¢ x 3= 1,800
7) 823 230-02 15,0009 x10% = 150
. weddggote A 2,400
1) S99% 210-01 |20,0009 X 6% % 203]= 2,400

4. SXLZA ALY 16,000 16,000 0
7F A A5 A A 9 16,000
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SETA R SA D (2] A
a | A PEERE == RESE 2014 (A) | 2013d(B) | Z7(A-B)
AFA AHA

D] 620—03 |4,000,0009 x 4= 16,000
EXgSAE 528,250 2,444,770 21,916,520
Exgsd 1,510 1,560 A50
1. E5used9gs]ed 1,510 1,560 250
7h SS9 93] 1,510
1) ZA5 210-06 (80,0009l % 278 x 73] = 1,120
2) & 9] 3 230-02 |15,0009 X 13 x 28] = 390
N S| 464,715 2,381,185
CEFaSAYAESY 464,715 2,381,185
7t A EF D F A D AE - 215,621
1) ZdAF1AN] 64,592
7D dx 110-02 |26,266,0009 x 29 = 52,532
W) Axpot 110-02 71,9339 %28 x15%= 2,158
) 2= 320-04 |54,690,0009 x1/12= 4,388
2 A 320-04 |54,690,0009 X 4.5%= 2,460
) A7 S 320-04 |54,690,0009 X 2.945%= 1,586
v wo1%37] @ ok1 &) 320-04 |1,586,0009 X 6.55%= 102
AP 18153 320-04 (54,690,000 x 1.5%= 820
o}) A B3 320-04 |54,690,0009 X 0.784%= 546
2) T2 1Y 44,709
7h S NSEZE 1Y 210—12 141,290€9 X109 x103] = 14,129
W) odgzg 3e9 210-12 10,0009 X 150 x 23] = 3,000
) st p g oo 210-12 |10,0009 X 1507 x 48] = 6,000
) WAFZZ 7399 210-12 10,0009 X 150 x 43]= 6,000
o} A ) AL 210-15 10,0009 X 264 x 43] = 10,560
Hp) & A ) 210-12 10,0009 X 82 x 28] = 1,640
AB) ZEAEE (DR 980
(1) 712 210-06 |70,0009 x 79 x 13]= 490
(2) %= 210-06 |70,0009 X 7' x 13| = 490
o}) x}eFA = 210-07 600,000 x 2t] x 28] = 2,400
3) 718 28,000
b L9eE 210-01 (500,000 x 103]= 5,000
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AFA U < A5 At 2014 (A) | 2013 (B)
) Azle 210-02 50,0009 x 129 = 600
=5) 01519\5 Ao 210—-02 |100,0009x129= 1,200
ZhH 1712 210-02 |600,0009x129= 7,200
u}) A]/}g%iﬁg—’;/}jﬂ] 210—-09 |500,000¢] x 43]= 2,000
up) 9jergodn) 210-13 |1,000,0009 x 129 = 12,000
) 4=3]o3n) 220-01 |20,0009 X 4™ x1393]= 11,320
5) RIZFe] A 17,000
7hH 71& 310-01 [100,0009 X177 x53]= 8,500
W %3} 310-01 |50,0009 %174 x103]= 8,500
6) WA T 430—01 1,000,000¢ X 2%&= 2,000
7) TA 430-01 |1,000,0009 x 28] = 2,000
8) AAFE] 430-01 |1,170,0009 x 4= 4,680
9) LA}%X'“J 430-01 |320,0009 x10%= 3,200
10) EZK 13k 430-01 400,000 x45%= 18,000
11) SLAg%7]x}zH 430-01 |402,4009x50%= 20,120
U AR AN E RS A E & 249,094
1) AL A =Ll An] 38,376
7 Q17An] 110-03 |6,245,9009 x 6% = 37,476
W) 7813 320—05 |37,475,4009 X1.4%= 525
o A RE 320-05 |37,475,4009 X 1%= 375
2) TR2IWLY 36,440
7h S SR T 210-12 10,0009 x50 x 608] = 30,000
W) ez z e 210—12 10,0009 X 387 x 123] = 4,560
th) A (AR 210-06 |160,0009 x 27 x 43] = 1,280
2}) i}ﬁoli}g 210—-07 600,000 X 13]= 600
3) 719 32,952
7hH 8% 210-01 [100,0009 X 10% x73]= 7,000
W) A 210-02 50,0009 X 13]= 50
th Azle 210-02 150,000 x12¢= 1,800
Zh) SIEYIEA Q- 210-02 |100,0009 %129 = 1,200
nh) A7) @ 210-02 |700,0009x12¢= 8,400
vh) At e R 210-02 (50,0009 x 129 = 600
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AR SA] C )
7] Apejuy el == S 20149 (A) | 20139(B) | Z7H(A-B)
/K]—%j = = = UE i), gul =]

AP A B3RS A) 210-09 |351,0009 x 23] = 702

o}) 9JEFE-In] 210-13 |1,100,0009 x 129 = 13,200

4) ool A9 210-10 |1,354,0009 x129= 16,246

5) 4=3]oIn] 220-01 |20,0009 x 4™ x 12638 = 10,080

6) WIZFe] A 15,000

7hH 7]& 310-01 |50,000€ x 109 x 203 = 10,000

) =3 310-01 |20,0009 %10 x 258] = 5,000

7) WA wE = 430-01 |1,000,0009 x5%&= 5,000

8) AFEL-A 7|1l 7] 7] 430-01 |1,506,000¢ x 2071= 30,120

9) A¥EE 430-01 |1,170,0009 x 16t = 18,720

10) AL} 430-01 |320,0009 x88% = 28,160

11) EZ R a3 430-01 |400,00091 x45%= 18,000
ESgSERY 62,025 62,025 0
1. A BAFE-S 62,025 62,025 0

7F 50 SA GAE X S AR 62,025

1) o17n 110-03 |17,700,000¢ x 3% = 53,100

2) LR3I 320-05 |53,100,0009 X 1.4%= 744

3) AR R 3 320-05 |53,100,0009 X 1%= 531

4) 4=3)odn) 220-01 |15,0009 X3 x1708]= 7,650
= A8 343} 620 880 A260
nSg43 620 880 A260
1. EAE=E78ASF 620 880 A260

7h SA LS EAAF 620

1) A5e= 210-01 |20,0009 x 10%= 200

2) 41w 210-01 [14,0009 X 2.51)] X 2] 7k= 70

3) A (b 210-06 |70,0009 x 274 = 140

4) ¥ ol3 230-02 |15,0009 x 79 x 23] = 210
DSk 691,577 762,683 AT71,106
FE&FA 4 691,577 758,143 66,566
1. 25901789949 4,130 5,680 A1,550

A T A RO 800

1) $98% 210-01 20,0009 x 10%= 200
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GRIE L)

AR S -4 e 2014d(A) | 20139(B) | SH(A-B)
2) ¥93 230-02 15,0009 x40 = 600
gk A o A 3,330
1) WAL= 210-01 20,0009 X 10& x 33]= 600
2) A& 210-01 |10,000¢] X 6% x 23] = 120
3) 923 230-02 15,0009 %107 x 28] = 300
4) F7FA2 ] 310-01 |7,0009 %1107 x 33| = 2,310
2. 2o 899A Y 2,760 1,560 1,200
7} ol mAakehglolwl ¢ 2,210
1) $9¢= 210-01 |20,0009 x5% x23]= 200
2) Ydi1xn 210—01 14,0009 x 2.5v] X 24| 7k % 28] = 140
3) At (dHh) 210-06 70,0009 x 27 x 23] = 280
4) 2pEolatw 210-07 |600,0009 x 2t)= 1,200
5) 3 2] 3] 230-02 |15,0009 x 13 x 23] = 390
L}, 9ol el u|ol o) 3] 550
1) ¢34 210-01 |20,0009 x 1= 20
2) ArZn ] 210-01 [10,0009 %17 = 170
3) A} 210—06 40,0009 x 3= 120
4) ‘?j/]ﬂ 230-02 |15,0009 x 8% x 23]= 240
L GAARAEEIA Y 684,687 750,903 266,216
7} oJ o] A &) A A1 9-3 684,687
1) 1z39] 514,687
7H Qojul A} 284,127
(1) % 110-02 |30,000,0009 x 67 = 180,000
(2) N7 110-02 20,0009 X 6 x 1504 3F= 18,000
(3) H&=+ 320-04 |198,000,000¢ x 1/12= 16,500
(4) F9AE 320-04 |198,000,000¢ X 4.5%= 8,910
(5) AFR3 320-04 |198,000,000¢] X 2.945%= 5,832
(6) =917 Q0K 320-04 |5,832,0009 X6.55%= 382
(7) A B3 320-04 198,000,000 X0.784%= 1,703
(8) %23d 310-01 |400,00091 x 69 x129= 28,800
(9) A== 310-01 |300,0009 %69 = 1,800
(10) gz= 310-01 |1,300,0009 x 67 x 23] = 15,600
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71387 - A E E Ak S 2]

o] + ] o

e — — - - . : (9] - A

e el el A< A= ArEU S 20143 (A) | 201394 (B) | T (A-B)
(11) =2 7An) 310—01 1,100,0009 X 6% = 6,600
) JolHz A 160,304
(1) 98 110-02 |25,000,0009 x5 = 125,000
(2) A5 110-02 [12,8419 5% X834 7k= 5,330
(3) Axp 110-02 68,4909 x 159 x 5% = 5,137
(4) gA=+ 320—04 |135,467,0009 x1/12= 11:289
(5) ZHAZ 320—04 |135,467,0009 X 4.5%= 6,097
6) A7R3 320—04 135,467,0009 X 2.945%= 3,990
(7) =071 QekR 3 320—04 3,990,0009 X 6.55%= 262
(8) 1E&H3 320—04 135,467,000 X 1.5%= 2,033
(9) AHAQRE 320—04 135,467,0009 X0.784%= 1,166
o) AHFREY 24,362
(1) A% 110-02 |46,7739 %1 xX365%U= 17,073
(2) WEK ZH] 110-02 60,0009 x1% x129= 720
3) V=49 110-02 80,0009 x 13 x12¥= 960
(4) N9 110-02 |8,7699 X 11 X 2043t = 176
(5) A72E4Y 110-02 [80,0009 x 17 x129= 960
(6) Axor 110-02 [46,7739 %1% x15%= 702
(7) §A =+ 320-05 120,588,0009 x1/12= 1,716
(8) == 320—05 20,588,0009 X 4.5%= 926
(9) A7 w3 320—04 20,588,000 X 2.945%= 606
(10) =91&71 QR & 320-04 [606,0009¥ X 6.55%= 40
(11) 78R3 320—05 20,588,0009 X 1.5%= 309
(12) AA R 320—05 20,588,000¢ X0.784%= 174
2 A el Rz 45,894
(1) A8 110—-02 |46,7739 %24 X365 = 34,146
(2) WEK ZH 110—-02 [60,0009 x 2% x 129 = 1,440
(3) A 7FRS 110-02 |8,7699 X2 X 2043t = 352
4) A7|12&55F 110-02 60,0009 %27 x12¢= 1,440
(5) AxpoF 110-02 46,7739 %28 x15% = 1,404
6) HA= 320—05 19,391,0009 x 2% x1/129= 3,232
(7) A+ 320-05 19,391,0009 x 2% X 4.5%= 1,746
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ARSIy ¢ 2= AP S 2014 (A) 20139 (B)
(8) A7 r3 320-04 |19,391,000¢ x 2% X 2.945%= 1,143
(9) =7 QekH 3 320-04 |1,144,0009 X6.55%= 75
(10) 7¢Rr3 320—05 19,391,0009 % 2% X 1.5%= 582
(11) 2R3 320-05 |19,391,000¢ x 2% X 0.784%= 334

2) T Z 7o) 76,000

7D FEAEe 42,400
(1) wAA = 210-01 |8,000€ X 1,500% x 23] = 24,000
(2) &R A = 210—01 3,80049 1,500 % 28] = 11,400
(3) &AlE 210-12 |20,0009 x35% x 108 = 7,000

W) T4 s 6,200
(1) AT 210-01 |20,0009 x40 x 48] = 3,200
(2) aHA= 210-12 |20,0009 x15F % 103]= 3,000

th) FENke-g 6,200
(1) AT 210-01 |20,0009 X407 x 43]= 3,200
(2) A= 210-12 |20,0009 x15% x 1038 = 3,000

2}) A oluk-e-9 3,600
(1) A+ 210-01 [20,0009 x40W x23]= 1,600
(2) 5B 210—12 20,0009 X 20 x 53] = 2,000

mh W 2,400
(1) AT 210—01 20,0009 x40 x 23] = 1,600
2) &9 EF 210—12 [20,0009 X 205 x 23] = 800

IR RE R 2,000
(1) =EFdxts 210-07 [500,0009 x43]= 2,000

Ab) g o] F A9 4,100
(1) A= 210-01 |20,0009 x105%= 2,100
(2) &9 210-06 |40,0009 x50 = 2,000

oh) ANFAIATA 210-12 |170,000¢ x 203] = 3,400

2 E=ATF-] 210-01 |10,000¢ x450A= 4,500

21 2903 230-02 15,0009 X208 x43]= 1,200

3) 71&y] 94,000

7 7] B =R n) 16,943
(1) 71273 6,903
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7187 AR LA S A9 (9] - A )
=] 2 ° 1=
Bopnm /iqj ?};3 ﬂg Aol el 2 A= Az 2014d(A) | 20134(B) | =¥ (A-B)

b 71389 210-01 |800,0009= 800
(h 7Rl 210-01 |359,0009 X179 = 6,103
(2) Eu]Aln] 210-05 |7,00091 x 177 x 8% = 1,000
(3) &AM 210-01 100,000 x17%3= 1,700
(4) A7V EF =5 210-01 [15,0009 x9F*x12€= 1,620
(5) 7] E-FE-Z=71] 230-01 |1,200,0009= 1,200
(6) =rioiH] 4,520
h T 220-01 |20,000¢) x 27 x 303]= 1,200
p =9 220—01 40,000€¥ x 29 x103]= 800
(th A (AeEz) 220-01 |20,0009 x14% x53]= 1,400
(2 #9 (A <ekA) 220-01 [40,000¢9 X149 x 23] = 1,120
) ZZo2uA A 27,185
(1) A71e & 210-02 |1,350,0009 x129= 16,200
(2) A3+ 210-02 |250,0009 %129 = 3,000
(3) A=+ 210-02 |100,0009 x12¥= 1,200
(4) AENEAIN) 210-02 |500,0009 %129 = 6,000
G) FAREe= 210-02 10,0009 x 38| A x 12€ = 360
6) AARZ=RI T 210-02 50,0009 % 13]= 50
7) —r.%jg% 210-02 |37,5009 x103]= 375
0 AR A B 35,532
(1) %i*& B -G-A] RS 210-09 |300,0009x129= 3,600
(2) AF719-% 210-01 |30,0009 x50} x 129 = 1,800
(3) #7]7@% 7)-5A B n] 210-01 [40,000¥x12¥= 480
(4) 3 210-01 400,000¥ x12¥= 4,800
(5) A7k s 210-01 |100,0009 x 129 = 1,200
(6) T 7n) 8 210-01 |371,0009 x129= 4,452
(7) 2¥A A A 4o 210-01 100,000¢x12¥= 1,200
(8) EH o)A A H G K 210-01 |200,000¥x12¥= 2,400
(9) A #an] 210-01 |400,0009x 129 = 4,800
(10) 71EFE AR 210-09 |400,0009 %129 = 4,800
(11) AE AN LA 210-09 |500,0009 x12¥= 6,000
2h) H|F<) 14,340
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4% (9] 2

)=
s RERE %A% SENE 20149 (A) | 20139(B) | Z7H(A-B)

(1) AFEE 430-01 |1,170,000¢ x5t = 5,850

(2) AALTV 430-01 |1,340,0009¢ x 2t} = 2,680

(3) T 430-01 |847,0009 x 2t = 1,694

(4) A A7 430-01 |500,0009 x 1t]= 500

(5) A 430-01 |500,0009 x 4t = 2,000

(6) YA A} 430-01 |404,0009 X 4t)= 1,616
A BA A Y 37,395 35,762 1,633
i Bo RN B = R PA R 33,225 31,669 1,556
1. Fu A 2,370 3,260 2890

7h et ASA A 2,370

1) A8z 210-01 |20,0009 X 15% x 28] = 600

2) AE A= 210-01 |5,0009 X509 = 250

3) g 210-01 |14,0009 x 2,51 x 64| k= 210

4) AZ=zp2A1H) 210-04 |7,0009 x 60% = 420

5) 7FAn) 210-04 |3,000€l X 60 = 180

6) AT (LRh) 210-06 |70,000¢ x 29 x 43]= 560

7) ¥ 23 230-02 |15,0009 <104 = 150
2. 7}3HA FA}L-o 30,855 28,409 2,446

7h. 3 AR B 30,855

1) A% 46,7709 X 3659 = 17,072

2) A7 120,00091 x12¢€= 1,440

3) WEHZH]| 60,0009 x 129 = 720

4) N 7r91%ek 8,7699 X 4A] 7k X 1629 = 5.677

5) Aok 46,7709 x 23 = 1,076

6) HAZ 320-04 |26,483,240¢x1/12= 2,207

7) Fm A 320-04 |26,483,2409 X 4.5%= 1,192

8) A% K3 320-04 |26,483,2409 X 2.945%= 793

9) 0137 Qokr & 320-04 |793,170¢ X 6.55%= 52

10) 7413 320-04 |26,483,2409 X 1.5%= 398

11) 2w e 320-04 |26,483,2409 X0.784%= 228
ABFHHTRH 153 A 4,170 4,093 77
1. #gTUAFAY 2,440 2,720 2280
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T EA A 19
[e) 1=}
?};3 ﬂg Apeluj el 2 A= A& 2014d(A) | 20134d(B) 72 (A-B)
7v FaddstE g gl 2,440
1) Soge= 210-01 [20,0009 x 15% x 23] = 600
2) A}k 210-06 | 40,0009 x 407 = 1,600
3) 74 310-01 |3,0009 x40% x 23] = 240
2. HATLA Y 1,730 1,373 357
7h. Sl F A e 3 2 1,730
1) Logx 210-01 |17,5009 X 20%= 350
2) A7 A2 210—-01 10,0009 X 90%= 900
3) A}k 210-06 | 40,0009 x 37 = 120
4) &]3| 230-02 15,0009 x 8% = 120
5) 7+-AH] 310-01 |3,0009 X807 = 240
St A ¥ 3ol T 5,280 5,643 A363
S AIET= 5,280 5,643 A363
1. AAZAEAFAH A & 5,280 5,643 A363
7}, QUE] Y E Al H] 210-02 |440,0009 x 129 = 5,280
PR R R PAR 202,230 229,305 A27,075
S ASBAA Y 2,230 3,005 ATT5
L ASEZEHHY LY 1,525 2,125 A600
7h A S AR A 725
1) A5e= 210-01 |20,0009 x 10%= 200
2) o1Z=221n) 210-04 |7,0009x75% = 525
L AlS S A 800
1) Loex 210-01 |20,0009 x 40%= 800
2. AEETIAIA A 705 880 A175
7b. S A=A S 705
) Sodgx 210-01 |20,0009) X 10%= 200
2) 2] 210-04 |7,0009 %15 = 105
3) AAG 210-06 40,0009l X109 = 400
ASESHAEEA L 200,000 200,000 0
L $4F529 200,000 200,000 0
7F SAEEY 180,000
1) 258w 620-03 |400,0009 x 2107 = 84,000
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e R Rt s S R s (cFe] : 19

wol 33 =+ Al - ol >
T e Jars AFel Abd Wi < == A5 AU S 20143 (A) | 20139 B) | TH(A-B)

9) Z8tuw 96,000

7H 9 620—03 400,000€ x 1508 = 60,000

) A+ 620—10 |400,000€ x 90 = 36,000

U e 20,000

X E 210-01 |20,0009 x 7%= 140

2) THLE 210-01 |300,0009 x 13%= 3,900

3) FolAgn| 4o 210-13 |300,0009 x 129 = 3,600

4) T#mn) 310-01 [40,0009 X307 x 43]= 4,800

5) E#aln 310-01 |7,0009 %309 x 36 = 7,560
S5d8Fx 4 15,930 14,900 1,030
Lo nS8/4d3 12,030 11,900 130
1. d53] &Y 6,180 6,400 A220

7} e Y 2,300

1) $9ax 210-01 |20,0009 X 60%E= 1,200

2) A 210-06 40,0009 <2078 = 800

3) 9] 3 230-02 15,0009 X 107 x 23] = 300

v X EZ RS A - 3,880

1) $9¢= 210-01 |20,0009 X 35% x53]= 3,500

2) AA}=k 210-06 |40,00091 x5 = 200

3) 93] 230-02 15,0009 x 12 = 180
2. o]Ao|g7| dYALFEA 5,850 5,500 350

7t o] Aol gL 5,850

1) A= 210-01 |20,0009 x10%= 200

2) AFEn 210-01 |10,0009 X550 = 5,500

3) 93 230-02 |15,0009 X 104 = 150
S & gto| 2Rl A w52 4 3,900 3,000 900
1. GZ3 el 2 &7 S A 473 3 3,900 3,000 900

7t st g A g st s 3,900

1) ARG 210-01 |20,0009 x4%= 80

2) AU = 210-07 |600,0009 x 23]= 1,200

3) <uhy) 310-01 |55,0009¥ X204 = 1,100

4) A1) 310-01 |7,0009 X 407 x 43]= 1,120
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7187 AR LA S A9 GEREE)
= o A=)
wopvy S0 | 2R | AT Aripel %A% AU 2014 () | 20134(B) | S7(A-B)
5) olxa 310-01 10,0009 x40 = 400
FHBEAE 6,075 8,505 22,430
St Z g o ukx ¢ 6,075 8,505 22,430
1 FEHSATAEA & 2,135 2,065 70
7k S g el 2135
1) AF4= 210—-01 |20,0009 X 7% x53]= 700
2) Y 210-01 |14,0009 % 2.51] x 23] = 70
3) A=A}An] 210-04 |7,0009 x 359 x53]= 1,225
4) A (b 210-06 |70,0009 x 274 = 140
2. A=A ¢ 3,940 6,440 A2,500
7]_ 61—5‘1]_3]/@%]] 2,500
1) S99= 210-01 |20,0009 X 11% % 53] = 1,100
2) 21H] 210—-04 |7,00091 x5 x 209 x 28] = 1,400
L. sHA A = 1,440
1) ¥ol3 230-02 |15,000¢ x 487 x 23] = 1,440
e 97} 3,018 3,211 A193
= PRy 3,018 3,211 2193
1. 27t dAR8F A E=F 7} 3,018 3,211 A193
7h =7 %Véf%Eﬁéﬂ%Oé 3,018
1) A A= g gl 110-03 |57,8504 < 6% = 348
2) $99% 210—-01 |20,000€ X 15% % 23] = 600
3) Retdalsgd 210-06 |40,0009 x 127 x 48] = 1,920
4) &2]3 230-02 [15,0009 x10% = 150
Y A k) A 9,360 9,680 2320
A F U 8HA A 9,360 9,680 A320
1. TS FA AT IA & 9,360 9,680 2320
7t FSta A A Al e ke 9,360
1) S99% 210-01 |20,0009 X 30&= 600
2) AAAE S48 210-01 |6,000,000¢ x 13]= 6,000
3) o1 n] 210-01 |10,000€ x 150% = 1,500
4) FXTZ 960
7h 7)1 210—-06 |80,000€ x 27 x 43]= 640
WS - FolEFEUS - RE-shEBEAY - s - sA PR st el 20/45




R

AF A= AEU 20149 (A) | 2013 (B) 7 (A-B)
W) 23} 210-06 |40,0009 X 21 x 43]= 320
5) &293] 230-02 |15,00041 X104 x 23] = 300
7,312,890 7,221,300 91,590
} 752 SR 1,429 1,429 0
ey 1,429 1,429 0
1. B35 A AE-L Y= 1,429 1,429 0
7}, a5k -2 A A 110-03 8,930 x 2% x 447k x 20U = 1,429
5,240,540 5,118,461 122,079
Aln] 2] Y 5,240,540 5,118,461 122,079
1. BA] &2 2 F4) 212,686 214,443 A1,757
7}, s 212,686
1) 29 620-03 |2,900¢ X386 x 190 = 212,686
2. EAA G RZF4 3,038,919 2,893,816 145,103
7} =29 % 610-01 |2,2009 x525% X190¥= 219,450
U, 15dy 2,819,469
1) 29 620-03 |1,4509%x5,492% x1909 = 1,513,048
2) AHY 620—10 | 1,45091x4,742% <1909 = 1,306,421
3. ALEZAd=2AX ¢ 612,161 582,683 29,478
7}, 158w 612,161
1) 39 620-03 |1,4509 % 1,484 x1909= 408,842
2) AHe 620-10 |1,4509¥ X738 X190 = 203,319
4. A8 A=AEAY 591,920 636,348 A44,428
7} x4 620-03 10091 %8187 x180YU= 14,724
U, 258w 313,672
1) =+ 610-01 |100€9x525% X 1909 = 9,974
2) 39 620-03 [1009 X 15,984 x190d= 303,698
o}, =8k 260,584
1) 29 620-03 |130€¥x8,462 x 1904 = 209,010
2) A 620—10 1309x2,0889 x190%= 51,574
g}, Egsty 620-03 |1209x129% x 1909 = 2,940
5. 1FARA L 784,854 791,171 26,317
7} x4 620-03 |69€ %9597 X 1809 = 11,818
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CA)

AFA U < A5 ArEU Y 2014 (A) | 2013 (B) Z(A-B)

B 245,416
1) =9 610-01 799x525% %190 = 7,805
2) =29 620—03 799x15,984% X190 = 237,611
t}. Z8kw 274,456
1) 39 620—03 137€9x8,4629 x190Y= 220,137
2) AHY 620—-10 |137€9x2,088% x190Y= 54,319
g} 15&w 250,188
1) 39 620-03 |1479x5,546% x190Y= 154,584
2) AH 620—10 |147€x3,430% x1909= 95,604
o}, EZ=dly 2,976
1) 39 620-03 1219x129%x190U= 2,976

nSE= & 2,070,921 2,101,410 230,489

SRE 2,070,921 2,101,410 £30,489

L TSEA AR GAY 2,070,921 2,101,410 230,489
7F wSE A Ak w A Y 1,902,405
1) 258w (197) 620—03 999,936,0004= 999,936
2) Fsti 902,469
7h &+ (9a) 620-03 |727,469,0009 = 727,469
) A (3) 620—10 |175,000,0009 = 175,000
U B8 BAA S 15 e 101,036
1) X2 AEZH QI AN 42,423
7h A% 110-02 [2,126,4809 x 12€= 25,518
W) HA5o 110-02 250,000 x 23] = 500
o} 233 E2)n) 240-02 400,000 x 18] = 400
) A7 EF7AE 110-02 70,0009 x12¢¥= 840
uh) A7 110-02 [13,1209 x 4827k x 129 = 7,558
v Ax}4wt 110-02 |70,880¢ x 15U = 1,064
AD HA L+ 320-04 |2,974,2279x19= 2,975
op) TWAFE 320—04 35,690,72091 X 4.5%= 1,607
ZH A7RE 320-04 (35,690,720 x2.945%= 1,036
2 =170k 320-04 [1,035,0319X6.55%= 68
7H 1gx 3 320-04 [35,690,7209 X 1.4%= 500
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(9] : 2 9)

AU o S-A= ArEue 20149 (A) | 2013d®B) | SH(A-B)
EP A4 13 320—-04 |35,690,720€ X 1%= 357
2) A A S 71 ] 29,973
7h A% 110-02 [1,703,5209 x 12€= 20,443
) EAFm) 110-02 |250,0004 x 23] = 500
t}) Uk E )] 110-02 400,0004€ % 13]= 400
) A7 2 H I 110-02 |50,0009 x 1270 €= 600
u}) AJ7Fe] St 110-02 10,5109 x 20413k x 129 = 2,523
np) A=}t 110-02 56,7809 x 16 = 909
AP E A+ 320—04 |25,074,72091x1/12= 2,090
o}) =l 320-04 |25,074,7209 X 4.5%= 1,129
2 AR 320—-04 |25,074,7209 % 2.95%= 728
2P =137 Qokn 3 320-04 |728,0009 % 6.55%= 48
7 1Lw 3 320—04 (25,074,720 X 1.4%= 352
EP) A4 53 320-04 |25,074,7209 X 1%= 251
3) WHFEAEY 19,820
b Lo eE 210-01 |20,0009 X 57% x 23] = 2,280
) zFEA = 210—-01 |20,000€ X 4% X 50% = 4,000
th 913 8,520
(1) €985 210-06 |80,0009 % 97 = 720
(2) AL LN+ 3,000
op 71 210—-06 |80,000€ X 5% x53]= 2,000
h =3 210-06 40,0009 x5 x53]= 1,000
(3) B A3 ¥+ 3,600
p 7] 210—-06 (80,0009 X5 X 63]= 2,400
h =7 210-06 40,0009 X 5% X 63| = 1,200
(4) AARAFHETS 1,200
p 7)1 210-06 40,0009 X 4™ x53]= 800
(h =3 210-06 |20,00091 x4 x 53] = 400
eh) AFEEE TS 3,270
(1) AL 45FE 430-01 [1,170,0009 x 1th= 1,170
(2) =4y 430-01 |600,0009) x 1= 600
(3) F-gMAyal o]z} 430—-01 |1,000,0009 x 1tj= 1,000
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(9] - )

Apeiy el E_4E A o 2014¢(A) | 20139(B) | T#H(A-B)
(4) g g7t 430-01 |500,0009 x 1t}= 500
nh) Aln] 310-01 |7,000€1 x50 x 53] = 1,750
4) AT AL 8620
7D =fon] 8,820
(1) #H 220-01 |20,00091 x 27 x 1508] = 6,000
(2) #9) 220-01 |47,0009 x 2% x 30%] = 2,820
o A AR A A) 9 12950
D a&5AAFAAs 4,030
b e 210-01 |20,0009 x 20%= 400
) AE A2 210-01 |20,0009 x 30% = 600
th 7-A1H] 210-04 |3,0009 %307 x 18] = 90
2h) 2n] 210-04 |7,00041 %307 x44]= 840
mh) AR (AR 1,500
(1) 7] 310-01 100,000 % 53] x 23] = 1,000
(2) =3} 310-01 |50,00091 X 53] x 23] = 500
) xpkel 2p 210-07 600,000 1t]= 600
2) AP BA A 2010
7 &4 E&F 210-01 |20,0009 x 20%= 400
) e A= 210-01 |10,00091 X 70%= 700
th 7HAH] 210-04 |3,0009 x 709 x 13]= 210
zp) 2h) 210-04 |7,00091 X707 x 24] = 980
vh) A 1,250
1) 7)= 310-01 |160,0009! 5% = 800
(2) %3} 310-01 |90,0009 x5 = 450
uh) xpEEQlabE 210-07 600,000 x 2t)= 1,200
AP A AdQlata 210-07 |400,0009 x 23]= 800
3) AFA AR 2980
7h) A2 A = 210-01 |11,00091 X 30% = 330
) 7H21n) 210-04 |3,000¢1 x 257 x 23| = 150
th A (L) 1200
1) 7% 310-01 |100,0009! X 103]= 1,000
(2) =3} 310-01 |50,00091 X 103] = o500
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AR X % (9] - )

o | A Areipel %A Aol 20141(A) | 20139(®B) | S7%(A-B)

Zh) A]Adelxta 210-07 500,000 x 23] = 1,000

o W B A ZEAY 14,930

1) A83] 25 sttt A 8,700

7hH &98% 210-01 [20,0009) X 35% x 23] = 1,400

) &gk 210-01 150,000 x 4= 600

oh) s A Z 210-01 |1,0009 X 700%-x 23] = 1,400

Zh A|ddxta 210-07 |500,0009 x 23] = 1,000

np) S|t B 210-07 1,500,000¢ x 23] = 3,000

51N PARE) 310—01 3,0009 xX50% x43]= 600

PABIRARE] 310—-01 |7,00049 x50 x 23] = 700

2) LAXEGRE LY 6,230

7H 8% 210-01 [10,0009 x 19%= 190

) <uth) 310-01 15,0001 x40 = 600

th 7+21n) 310—-01 |3,0009 x40 x 4% = 480

Zh) A1) 310—-01 14,0009l X407 x 104 = 1,600

n}) AR 310—01 30,0009 X 18A13F x 47 = 2,160

Hh) 2kl 2w 210-07 600,0009 x 2t]= 1,200

at. A 7| A A ALY 40,000

1) A A7HEA AATY 320-02 8,000,0009 x 57] ¥= 40,000
AN/ASEE 695,573 1,014,195 £A318,622
BAAE 11,280 13,170 21,890
R AR 1,520 1,520 0
1. R A SHARHES 1,520 1,520 0

7F RA WAL S 1,520

1) AF8= 210—-01 20,0009 X 10% x 43| = 800

2) A 210-01 |14,00090 x2.5v) X 2|7k x 43] = 280

3) ZdAtE (LR 440

7hH 71& 210-06 70,0009 x 1§ x43]= 280

W} 23 210-06 40,0009 x 1% x43]= 160
g7 37 2| AT 9,760 11,650 21,890
1. $ud=Eae 850 850 0

7F. A A 850
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(9] - )

AFA U < A5 ArEU Y 2014 (A) | 2013 (B) Z(A-B)
1) *98= 210—01 20,0009 x5F=
2) AF7AE 210-01 |15,000€ X503=
2. uFHF3N#E P35 41,890
7F. Bt gk 91 A8 7 51-9) A 3]
1) A4 210-06 |80,000¢ x 1174 x 98] =
2) ¥9ol3] 230-02 [15,000¢ x 189 x 23] =
U, A Eeks 230-02 |15,0009 X107 x 33]=
S A308,702
EuRcy 440
1. 54253 EY 440
7t S A A A A
1) dg= 210-01 20,0009 X 10% x 43] =
2) a8 210—01 | 14,0009 X 2,54 X 8A|3F=
3) ZAAtrE (LR
71 75 210-06 70,0009 x 274 x 43] =
W =3 21006 |40,000€l x 2% x 43]=
. st F A AT
D AATT 310-01 |50,0009 x 27 x 83| =
2) o3 230—02 15,0009 X108 x 23] =
o iy R P P R e 310—01 50,0009 X503 X 23] =
=% 0
1. S EFAENRFE G0 0
7}, F2A 2} ee-od 1] 620-03 [2,896,000¢ x 6=
sk 7|4 A309,142
L R FA7 TR %S A309,142
7h = m A7 A
1) 2=8hw (31) 620—04 26,610,000 =
2) s
7hH 3w 620—04 29,580,00091=
AR
1) LA E
7H A AN 420-02 65,060,0009 X8.797%=

26/45




(5] : 29)

A S == A5 ArEU Y 20143 (A) | 20139 B) | TH(A-B)

) AlAdn] 65,060

(1) 28] ¥R 420-03 |50,000,000¢ x 14]= 50,000

(2) AN 420-03 |6,280,0009 x 221 = 12,560

(3) 7]7+o)AH] 620-04 |2,500,0009 x 14 = 2,500

th A A EH] 420-05 |65,060,0009 x1.026%= 667

o AL A g 490,266

1) A Am] 20,147

7h AR % 420-02 |332,085,0009 X 6.067%= 20,147

2) A7) 453,854

7h ARG E 332,085

(1) g4 420-03 [2,160,0009 X 120m X 60%= 154,872

(2) A4 420-03 |1,520,0009 X 192m' X 60% = 175,013

(3) 7171 A H] 620-04 |2,200,0009 x 14 = 2,200

W) 8= 121,769

(1) z=g4 420-03 [119,569,000¢ x 12]= 119,569

(2) 7]7-0]4dn] 620—-04 |2,200,0009 x 14 = 2,200

3) A]ARn] 5,271

7h FAREE % 420-05 |332,085,0009 X0.72%= 2,391

W Az 420-05 [400,028,0004 x0.72%= 2,880

4) 7+ H] 10,994

7H ARk % 420-04 |332,085,0009 X 1.522%= 5,054

W Mz 420-04 |400,028,0009¢ X 1.485%= 5,940
ZEASA 3 S5 40,950 48,980 28,030
A& 3 A4 40,950 48,980 28,030
1. AZ 23RS 3 17,360 18,340 A980

7F A Ad A S8 A g 13,600

1) MExar 310-01 |200,0009 x15% = 3,000

2) £471] 10,600

AR 15 620-03 |53,0009 x 25% x 43]= 5,300

W sk 620—03 [53,0009 x 259 x 43]= 5,300

. At 2 A S 3 3,760

1) A3 310-01 [200,0009 x5€= 1,000

- BA/FA/AKFEE - AEASY I = A3 A 27/45




7187 AR LA S A9 (9] D)
= [e} =]
wopvy S0 | 2R | AT NERE 2 4% Ao} 20149 (A) | 20134(B) | Z%(A-B)
2) &x7u 2,760
7hH 258w 620-03 92,0009 x15% = 1,380
W) Fstw 620-03 92,0009 x15% = 1,380
2. 71E}A| &) 3] 23,590 30,640 A7,050
7}, w57 o) 3 6,050
D) A AA Sl 3] 1,870
b e 210-01 (50,0009 X 15%= 750
) AlH) 210-04 7,000 x40 x 43]= 1,120
2) 7471 310-01 40,0009 %92 = 3,680
3) AfxF 310-01 [100,0009¥ x5¥ = 500
. 54703 7,520
D &3t 2] 4,655
7h ¢ 8E 210-01 |20,0009 X 160% = 3,200
) Ay 210-06 40,0009 X329 = 1,280
th 2] 310-01 |7,0009 x 257 = 175
2) TG 3] 2,165
7H 9 4% 210-01 |20,0009 X 75%= 1,500
) Aego 210-06 40,0009 x 147 = 560
th 2] 310-01 |7,0009 %15 = 105
3) A5uH 310-01 |100,0009 x 78 = 700
o}, A S 3 8,420
1) S99 8= 210-01 |20,000€¥X103F *x23]= 4,120
2) AFEn) 210-01 |250,0009 x 108" = 2,500
3) AdTd 210-06 |40,00091 X 10% x 38 = 1,200
4) Z47n) 310-01 [20,0009x10% x3%]= 600
2k 2t5A) €0 8 1,600
1) $98= 210-01 |20,0009 X 20%= 400
2) A5uH 310-01 |200,000€ x6¥= 1,200
ST B ) 43,975,172 43,555,051 420,121
s L-gux Y 32,761,981 32,968,377 £206,396
TR Bt D] 32,761,981 32,968,377 £206,396
1. | 2L 32,379,236 32,585,328 £206,092
W - folRxFEuS - SuAdAdee - S - Fugdn A 28/45




R A G
= 1=}
wopvy S0 | 2R | AT NERE 2 4% Ao} 20149 (A) | 20134(B) | Z%(A-B)
7t 424 620-02 |2,004,855,000¢1= 2,004,855
U 2538y 620-02 |20,149,610,000¢1= 20,149,610
t}, Z3tw 620-02 |10,224,771,00091= 10,224,771
2. 7129 u| A Y 382,745 383,049 A304
7}, S gg ol A 126,626
1) 258w (171) 620-04 |126,626,0009= 126,626
L}, dekrrelA g 131,991
1) 258w (111) 620-04 |69,256,000¢= 69,256
2) 28t (31) 620-04 |42,735,00091= 42,735
3) 1538hw (11) 620-04 |20,000,0008= 20,000
[ RTAS S = ey 80,398
1) 258w (61) 620-04 |80,398,0008= 80,398
oh WS A LAY T 20,000
) 258w (1w) 620-04 |20,000,0008= 20,000
v}, 7| EAEE Y Ee) = 23,730
1) 7587 (11) 620—04 |23,730,0009= 23,730
AbstA g =) 4 11,213,191 10,586,674 626,517
QAN AR ATA L 8,618,285 8,129,038 489,247
1. QAN AZETFRZ 8,618,285 8,129,038 489,247
7} 1 7n 2 9 620-08 |8,618,285,000¢1= 8,618,285
LIu AR AT L 2,594,906 2,457,636 137,270
1. LG AR FT R Z 2,594,906 2,457,636 137,270
7}, Bt 7] 293 ] 620-09 |2,594,906,0009= 2,594,906
Sa A G ANAAA 6,469,626 4,715,388 1,754,238
SN ENEWAPS] 2,883,930 167,882 2,716,048
St AZA 2,883,930 167,882 2,716,048
1. x4 374,331 167,882 206,449
7}, 74 ke 9 374,331
1) A A 420-02 |355,692,0009 X 3.011%= 10,710
2) A1) 355,692
7 oAU ASEFol A 420-03 |56,570,0009 X 2.6 = 147,082
) oF R3] Aol d 420-03 |65,740,0009 X 1.54 = 98,610
A = FolRl 2T E g - tuuFANAAE - FYFEAE - FuTd 29/45




(9] - )

AR A= AEUS 2014¢(A) | 20139(B) | T#H(A-B)

th oA ZHA|A 420-03 |60,000,0004¢ x 1] = 60,000
2} oA I AAA 420-03 |50,000,0004 x 12]= 50,000
3) 7+gn 420-04 |355,692,0009 % 1.509%= 5,368
4) AN on) 420—05 355,692,000 X0.720%= 2,561

2. 8F=4 2,509,599 0 2,509,599
7h. ARkt g5 2,500,599
1) AAm] 148,304
7hH AR A% 420-02 |1,944,540,000¢ % 3.633%= 70,646
W 3ax 420-02 |370,160,00091 X 4.795%= 17,750
oh) FAFERE X 420-02 |256,280,0009 x5.110%= 13,096
) FUEx 420-02 |540,240,000491 X 4.539%= 24,522
uh) 3 E 420-02 |482,560,0009 x4.619%= 22,290
2) AlAdn] 2,314,700
7hH A R 420—03 |1,944,540,0009 x 14] = 1,944,540
W 33 x 420-03 |370,160,0004€ x 12 = 370,160
3) 7+a]n 27,638
7hH AR 420-04 |1,944,540,0009 X 1.136%= 22,081
W 3dx 420-04 |370,160,0009 X 1.501%= 5,557
4) A H-o8] 9,957
7hH A A= 420-05 |1,944,540,00091 X 0.375%= 7,291
W 33 x 420-05 |370,160,00049 X0.720%= 2,666
e 9,000
D g5z 9,000
7hH Ad ol wA ¢l =} 620—03 900,0009 x 24 x 57} 4= 9,000

240,671 1,646,146 A1,405,475

ZN= 240,671 1,646,146 21,405,475

1. A3 A8 FA A 165,861 239,503 AT3,642
7 AR 96,750
1) FARFE 96,750
7H A|AdH] 420-03 |12,900,0009 X 7.54 = 96,750
B A 69,111
1) AAn] 69,111

AEHANAAE — SFu ARt E - FuAESIF
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)

A S == A5 AU S 20144 (A) | 20139(B) ZH(A-B)

7h 3a= 420-02 |1,992,000,0009 x 3.46%= 69,111

2. =¥ ANEEEA 44,810 0 44,810
7h 21 EHA 44,810
D AFEx 420—03 44,810,0009 x 14 = 44,810

3. ZZLASAANE A 30,000 0 30,000
i B R R MRS 30,000
1) FAbedE 620—11 |30,000,0009 x14)= 30,000

3,345,025 2,901,360 443,665

TEFAMNA 3,345,025 2,901,360 443,665

1. w4 +A 923,474 925,506 22,032
7}, QI E H 42,550
1) AlAdn] 42,060
7h ARRRFS 420-03 |7,010,0009 x 22 = 14.020
W AT 420-03 |7,010,0009 x 42 = 28,040
2) AR 420-05 |42,060,0009x1.17%= 490
(BRI =R R 202,820
1) Al 199,241
7hH A Ex 420-03 100,000,0009 x 12 = 100,000
) 2Aabx 420-03 |50,000,000¢ x 14 = 50,000
o) A EF 420-03 17,010,0009 x 42 = 28,040
T 420-03 |21,201,0009 x 14 = 21,201
2) Al HF-tn] 420-05 [170,000,000¢ X 0.85%= 3,579
1S REDARE B 191,556
1) Al7dv] 191,556
7h A= 420-03 19,390,000€1 x 22 = 18,780
W AT x 420-03 19,390,000¢1 x 52 = 46,950
b FAEEE 420-03 |9,390,0009 x 14 = 9,390
2h) itz 420-03 19,390,0009 x 42 = 37,560
uh) FAbESE 420-03 19,390,0009 x 54 = 46,950
Hh) EAFEARE 420-03 |9,390,000¢ x 12 = 9,390
AP A E 420-03 |9,390,0009 x 14 = 9,390
op FAFE 420-03 |9,390,0009 x 1.4 = 13,146

m

A = EFAFNAAAL — StwA A w537 Al
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R

A S == A5 AU S 20144 (A) | 20139(B) ZH(A-B)
o EYTLH T WA 135,919
1) A]An] 134,370
7h M= 420-03 |1,420,000¢ X204 = 28,400
) #AHE % (29 420-03 | 1,420,0009 X724 = 9,940
o) AR (EE 420-03 |2,150,00091 x 72 = 15,050
2 FAEEX 420-03 |1,000,000€ x 2024 = 20,000
vh) A3 = (F7H3) 420-03 2,150,0009 x 142 = 30,100
v d3 = (&YRE) 420-03 1,420,0009 x 142 = 19,880
AP Aok 420-03 1,000,000 x 72 = 7,000
o) A= 420-03 4,000,000 x 124 = 4,000
2) Al K] 420-05 |53,390,0009) X 1.96%= 1,549
ul A H 51,278
1) Mg=x 51,278
7H A]2H] 420-03 |6,770,0009 X 7.54= 50,775
) A|AF)H] 420-05 |50,775,0009 X 0.99%= 503
vl QE-AS WA 231,471
D 995 151,071
7H A]2H] 420-03 |10,710,0009 x 144 = 149,940
) A| A F-djH] 420-05 149,940,0009) X0.75%= 1,131
2) TP 80,400
7H A1A2H] 420-03 |5,360,0009 X 154 = 80,400
AL BASA 67,880
1) wAFA 67,880
7hH JEE 420-03 67,880,00091 x 124]= 67,880
2. FFAANA 340,699 29,213 311,486
7F S5 A 230,999
1) A Am] 5,253
7H Morxx 420-02 |39,300,0009) X8.91%= 3,502
) vjelte = 420-02 19,600,000 X8.91%= 1,751
2) A]An] 225,179
71 ot Ex 420-03 [131,0009 X 300m= 39,300
h HQFE X 420-03 196,000 X 100m= 19,600

m

A = &R N AL - A WL EE AN
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A S == A5 A 20144 (A) | 20139(B)
o) FAEF 420-03 131,000€ X 300m= 39,300
2h A AZ L 420-03 [131,0009 X 809m= 105,979
ul) A& 420-03 [1,500,0009 x 14t)= 21,000
3) ANt 567
7hH Nor=x 420-05 [39,300,0009 x0.96%= 378
wh HQFE % 420-05 |19,600,000€) X0.96%= 189
v 2 A 20,000
1) A]AH] 20,000
7hH FUE % 420-03 5,000,000 X 1dj= 5,000
) Jforex 420-03 [5,000,0009 x 3= 15,000
= e e A R B 89,700
1) AlAdn] 89,700
7h TAkx 420-03 16,900,000 x 4= 27,600
W) FAHEEx 420-03 6,900,0009 x 4dj= 27,600
oH A% 420-03 16,900,0009 X 5t= 34,500
3. 9 EIAAXA 1,048,932 642,357

7. S A 110,824
1) A]Adn] 119,176
7h AR G2 420-03 |433,0009 X 160m= 69,280
W) A= 420-03 |297,0009 X 168m'= 49,896
2) At 648
7hH FAS-EHE S Y 420-05 |69,280,0004 X0.9%= 648
U, A2 EH 32,640
D Y=z 32,640
7H ARG 420-03 68,0009 x480m'= 32,640
o EEEAA 167,200
1) A]AH] 167,200
7h JEE 420-03 1,520,000 X 70m= 106,400
W) FAE S 420-03 1,520,0009 X 40m= 60,800
gt SHAIA 137,108
1) FAbEE 137,108
71 A)AdH] 420-03 |424,0009 X 320m'= 135,680

m

A = &R N AL - A WL EE AN
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27 (9] : 2 9)

)=
ﬂg Al el 2= RENE 2014'd(A) | 20139 (®B) | Z7HA-B)

) A E ) 420-05 |135,680,000¢ % 1.052%= 1,428

A e PR 121,265
1) AAln] 121,265
71 A (TR RS 420-03 |30,000,000¢ X 14 = 30,000
W) bz (3 z7) 420-03 20,000,000 x 14 = 20,000
) A AT (EE TR EY) 420-03 |30,000,000¢] X 14]= 30,000
2h) Fabd (v e 255 420-03 41,265,000 x 14]= 41,265

vh A EEW S AL A A 7R 93,875
1) mEo]A 23,960
7 FE= 420-03 |23,960,0009 x 14]= 23,960
2) FAEHH 8,660
7hH eEx 420-03 |433,0009 X 20m= 8,660
3 =4 10,000
7h AR sl = 420-03 |5,000,0009 x 12]= 5,000
) dakx 420-03 |5,000,0009 x 12]= 5,000
4) BERE TR 51,255
7P FARER % 420-03 |67,0009 X 120m= 8,040
) Fah)Ex 420-03 |67,000¢ X 80m= 5,360
oh) FArg T = 420-03 |67,0009 X 225m= 15,075
2 B3z 420-03 67,0009 X 100m= 6,700
op) FAFe| A % 420-03 |67,0009 X 80m= 5,360
Hh) FAR Al 2 2B 420-03 |67,0009 X 60m= 4,020
AP AR 2 420-03 |67,0009 X 100m= 6,700

AL 2EAEEEA 377,020
1) #AE G2 377,020
7h #H71 =4 420-03 |20,000€ %X 6,200m'= 124,000
) #7124 420-03 10,0009 X 2,666 == 26,660
th ¥ 7] & 28] (7FAA) 420-03 |140,0009 x 1,240% = 173,600
2} =722 gn) (AA) 420-03 20,0009 x 1,426 %= 28,520
u}) HE A2 420-03 |24,240,0009 X 14 = 24,240

4. A7NAAAA 177,137 147,507 29,630

7} S A A A 171,937

m
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(] A 9)

At S A e 20144(A) | 20134d(B) | FH(A-B)
1) A Am] 420-02 |74,450,0009 X 6.9%= 5,138
2) A 166,450
7 iz 420-03 [10,000,0009 X 14 = 10,000
W) Mz 420-03 [2,630,0009 X154 = 39,450
o FAbESE 420-03 15,000,000 x 14 = 15,000
2 HrEEx 420-03 |10,000,0009 x 14 = 10,000
up) Ak 420-03 92,000,000 x 12 = 92,000
3) Al H-thn] 420—05 |74,450,0009 X0.47%= 349
. HF g2 S 5,200
1) ks = 420-03 15,200,000 x 1= 5,200
5. A3 xzA]4 25,265 0 25,265
7t A skzAl A 25,265
1) FstxAAd 25,265
7H AAE Fopn] E R 420-03 |25,265,00091 = 25,265
6. A ANA 726,378 532,077 194,301
i 1 S | 726,378
1) A AN 420-02 689,180,000 X 4.7%= 32,392
9) A AdH] 689,180
7H AA| EZofu] & 420-03 81,080,0009 x1.54 = 121,620
W) FAREEx 420-03 |81,080,0009 x 54 = 405,400
oh M= 420-03 [81,080,0009 x 24 = 162,160
3) ATt 420-05 |689,180,0009 X0.697%= 4,806
7. TARTA A 103,140 103,350 A210
7F a4 38,880
1) AN B 620—11 4,860,0009 x 82 = 38,880
U EYw2 s 0 A 64,260
1) A= 620-11 |10,710,0009 x 621 = 64,260
175,336 190,168 A14,832
175,336 190,168 A14,832
FR 15 E s8R 175,336 190,168 ~14,832
AAFAI AL L FA 175,336 190,168 A14,832
1. BB S FA ¢ 500 500 0

G A A - FAuSAEYLEGA 4 35/45




R

AFA U < A5 EU o 2014 (A) | 2013 (B) Z(A-B)
7h. B E A 500
1) &23]n) 210-02 |500,0009 x 13]= 500
2. SEAAA|E A Y 170,616 181,468 210,852
7. Ak e st 170.616
1) Q1= 320-01 |13,5009x60% x 18] = 810
2) T9=R 320-01 |68,1009x105% x129= 85,806
3) el 7] 320-01 |700,0009 %10 x 129 = 84,000
3. FREXRNYILY 1,820 2,120 A300
7h ¢ e= 210-01 |20,0009 X 10% x 23] = 400
U, e 210-06 |80,000¢ x 79 x 23] = 1,120
o}, & 2] 3 230-02 15,0009 x 208 = 300
4, LA I EAEL AR 2,400 5,800 A3,400
7h st d W ARG A d 2,400
1) S99 210-01 |20,0009 X 5% x 123] = 1,200
2) $HLF 210-02 |2,0009 X 6008 = 1,200
w4 utk 3,155,321 3,182,336 A27,015
Zs 2,710,921 2,711,472 551
11,400 9,500 1,900
SR A7 AT 11,400 7,150 4,250
1. 20 AYSG=A 11,400 7,150 4,250
7t TR YA E R 3,100
1) $98= 210-01 |20,0009 x5%= 100
2) As A = 210-01 |10,000€ X 300%= 3,000
v AR S Y 8 8,300
1) 98= 210-01 [20,0009 X 15% X 33]= 900
2) A7 A= 210-01 |10,0009 X 500% = 5,000
3) AESY 210-06 |40,0009 x 5% = 200
4) A= 210-07 |500,0009 x 24 = 1,000
5) AlH] 310-01 |7,0009x100%= 700
6) A (4R 500
b 7 210-06 |160,0009 x 17 x 23] = 320
W) %3 210-06 90,0009 x 17 x 23]= 180

36/45




AR X % (9] - )

[e) 1=}
?};3 ﬂg Apeju o B NN 20149 (A) | 2013d(®B) | @ (A-B)

T B E-A] 2,990 2,690 300
AEFAETR 2,990 2,690 300
1. 38 FENPELT 2,990 2,690 300

7h AR S A A A Y 2,990

1) £98F 210-01 |20,0004 X 1= 20

2) A=A 2} 210-01 |5,000€l X 500% = 2,500

3) AESTG 210-06 |40,000¢ x 47 x 28] = 320

1) 993 230-02 15,0009 x 10 = 150
ZFAL g 6,755 0 6,755
ZFA g 6,755 0 6,755
L. oA 8 3 & o 4 33} 6,755 0 6,755

7h oA gl g ] o) A 7k skl 5 2,450

1) dA4e= 210-01 |20,00091 x 10§ *x 33]= 600

2) A2 A= 210-01 |5,000€ X 100%-= 500

3) dis 210-01 |14,0009 x 5vj x 33]= 210

4) AR (AR 750

7h 71 210-06 |160,0009 x 18 x 33]= 480

W) 27 210-06 90,0009 x 19 x 33 = 270

5) ¥ol3 230-02 |15,00091 X137 x 23] = 390

U A EES A S 4,305

1) A== 210-01 |20,0009 x 20% x 23] = 800

2) 2] 210-04 |7,0009 % 65% x 23] = 910

3) A= 210-04 |3,00091 X657 = 195

4) xeel g 210—-07 |600,000¢9 x 2t} x 23] = 2,400
TSHA A B3} 16,515 10,802 5,713
ASHAA B A AE L 16,515 10,802 5,713
LA # LY 15,855 10,142 5,713

7h AR B A g E | 0] A - 3,000

1) $98= 210-01 |20,0009 X50% x 23] = 2,000

2) PC5 g 210—-01 |100,000¢¥ X5%F x23]= 1,000

L A A B 12,855

1) QJFEATE 0] 210—-01 |37,0004€l X607 = 2,220

W - W - WHPAN - wSF GRS} - AP RA AN 37/45




7187 AR LA S A9 (9] - A )
Z o )=
wopvy S0 | 2R | AT NERE 5= RENL 2014d(A) | 20134(B) | ZZ(A-B)
2) H/W-HA] H.5=H] 210-09 |27,018,0009 X 8%= 2,150
3) AFEH AL G A 210—09 100,000¢ X 5%& x 23] = 1,000
4) AV BAZ AT TR 210-09 |165,0009 x 129 = 1,980
5 MAtwS AT 3 210-01 (61,0001 x41t]= 2,535
6) UPSZH A X w A 430-01 [230,0009 x97]= 2,070
7) U E 9 74H] 430-01 |300,0009 x 3t= 900
2. 0| A F A& 660 660 0
7}, S| o] x| A A2 210-01 55,0009 x12¥= 660
ASPFARYL S EHT 520 520 0
IEFA 7| FEHE 520 520 0
1. 3R FNEY 520 520 0
b e B R B S R R e 520
1) +98% 210-01 |20,0009 x10%= 200
2) AT 210-06 |80,0009 x 2% x 23| = 320
IR B P R Eaty o) 1,968 6,918 24,950
kil JJ&E] 1,968 6,018 24,950
1Y A =) A 1,968 6,918 £A4,950
]_ 19 5 AL 1,968
o s 210—01 [20,0009 X 14F X638 = 1,680
) Jd719d 210-07 [24,0009 x123]= 288
H] o)) Al & L 1w Qk 860 2,120 21,260
v 3o v] A g 9 Bl #e 860 2,120 A1,260
1. 8] din Al E Y Bt 160 520 A360
7F ApdebA shar Tl 160
1) 9% 210-01 |20,0009 x8%= 160
2. SAAHF 700 1,600 £900
7} 8= 210—01 [20,0009 X 35&= 700
oAt & 17,700 3,470 14,230
o A 17,700 2,770 14,930
1. ZEAGAEZFA 600 2,050 A1,450
7} A E A= 210-01 |6,0009 x100%-= 600
2. FUFA JAA 3,600 0 3,600
T — AHFURE - TSP F LN — AL - oatkag 38/45




719 - AR E S S X9 (Sl @ H9)
= o A=)
wopvy S0 | 2R | AT NERE 2 4% Ao} 20149 (A) | 20134(B) | Z%(A-B)
7h FRI o] o Ak Al - 3,600
1) S98% 210-01 |30,0009 x 3% = 90
92) A A= 210-01 |4,00049 x 25%-x 23] = 200
3) #A=ut 210-01 |50,0009 x 28] = 100
4) Ao 210-06 [80,0009¥ x 159 x23]= 2,400
5) 28] 310-01 |7,0009 x 157 x 23] = 210
6) o] 310-01 |20,0009x15% x 28] = 600
3. nFFAH MR L 13,500 0 13,500
7h WS A LAY Y] E 13,500
1AM E (1) 620—11 |13,500,0009= 13,500
A7 69,978 59,528 10,450
T AL EZ g 69,978 59,528 10,450
1. 2 - F5AA3E 5,110 5,920 2810
7V ARV EA R 210-01 [500,000¢ X 63]= 3,000
U 5755 210-01 |100,0009 X 103] = 1,000
o ZEAA F =2 230-02 |15,0009 X 13 x 28] = 390
2}, BA =] 250-04 60,0009 %1 x12¢= 720
2. S Z{ A Y 9,625 0 9,625
7} Bl = 410-01 |125,0009 X 77m'= 9,625
3. ZA A A G T A 38 55,243 52,608 2,635
7F N2 A G2 A 3] 8] 210-02 |55,243,0009= 55,243
A vl X] A E 1,632,802 2,045,477 A412,675
s A uj) x] A 8 B8 1,425,702 1,518,757 293,055
L. AL EdFF2 210 3,800 23,590
7} e TFFXZ 230-02 |15,0009 x 77 x23]= 210
2. B AR ¢ 1,300,912 1,374,037 AT3,125
7}, B8k A A 91,000
1) =3 (3491%) 430-01 |91,000,0009 % 1th= 91,000
L S AP 79,600
1) gx1< @2 620-03 |15,413,0009= 15,413
2) 28w (7)) 620-03 |64,187,0009 = 64,187
o AAH A= 210-07 |44,033,0009 X 24¢)= 1,056,800

Uk — HAFAN — SR AH — L) A 2

Z]
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GRIE L)

AF A= dEUWY 20149 (A) | 2013d®B) | SH(A-B)
2h, P =91 Q17 ] 73,512
1) x4 620-01 |8,168,000¢ x 2= 16,336
2) =53k 620-01 |8,168,0009 x 7%= 57,176
3. FAE2 ¢ 124,580 140,920 216,340
7}, Sh&H| 51,360
1) A1 A 310—01 |160,0009 % 9% x 97/} 4= 12,960
2) A&y 310-01 |160,000€ X247 X 1071 €= 38,400
U gIAE) A Y (103) 620-03 |73,220,0009 = 73,220
e uSAdR Y 207,100 526,720 319,620
1. A-dstw | mZH A4 53,000 385,000 A332,000
7h A 2 A A 53,000
1) wAgnagy Za} 420-03 |30,000,0009 x 121 = 30,000
2) NYAn 620-03 |23,000,0009 x 13= 23,000
2. A FRENSAIA Y 154,100 141,720 12,380
TR s N P | 100,600
1) W58k 9 620-03 |75,600,0009 x 11= 75,600
2) AT LH5Y 620-03 |16,400,0009 x 1iL= 16,400
3) t-sote| g 620-03 |2,000,0009 x 11L= 2,000
4) Ao u S+ 620—03 6,600,000 X 11= 6,600
), shajul 3y 2] 9] 5 A B 13,500
1) HAEX %9 620-03 |13,500,0009 x 13.= 13,500
S A 3t 40,000
1) Zorulag g 620-04 |40,000,0009 x 13= 40,000
WEFo] g 40,782 14,580 26,202
Z0 783 S 40,782 14,580 26,202
1. 8@ %ogﬂ%]ura] 7,742 4,370 3,372
7h St ddT 7142
1) AFgE 210-01 |20,0009 X 50% x 33| = 3,000
2) A7 A 2 210-01 |5,8509 x120%= 702
3) dug 210-01 |14,0009 x 2.5 X 6A]7k= 210
4) 2 (4R 750
7h 7)%E 210—-06 |160,0009 % 17 x 33] = 480

Sarol gy — Sl 18 o] Eu 40/45




PARSIRDIE 2= A&y 20149 (A) | 20139 (B)
W} 23t 210-06 90,0009 x 17 x 38] = 270
5) AbglurE sy 210-06 |40,00091 x 27 = 80
6) 2ol xta 210-07 |600,0009 x 2t)= 1,200
7) & 2] 3 230-02 |15,0009 X 60 x 23] = 1,800

2. SR Estm gl F 31 9 33,040

7). SR ed 8:150
1) gz 210-01 |20,0009 X 20% x 28] = 800
2) A A= 210-01 |3,0009 X 100%-= 300
3) = 21001 |14,0009 % 2.5 x 24|3}= 70
4) A (A 300
7 7] 310-01 |100,000¢x 1% x 23] = 200
W) 23 310-01 |50,0009 % 1% x 28] = 100
5) 2ol xte 210-07 |600,000¢ x 2t)= 1,200
6) & o3 230-02 |15,0009) X327 = 480

N R E R 6.000
1) $og=x 210-01 |30,0009 x 20 x 62 = 3.600
2) Aa A= 210-01 |1,6009 x100%-x 33]= 480
3) e 210-01 |14,0009 % 2.5v) X 12A] k= 420
4) A (A 1,500
7hH 7] 310-01 160,000 x 6= 960
W) 23 310-01 |90,000¢! % 6 = 540

o} o} w I g 22,000
D g 12,600
7 o3 gE 210-01 |20,0009l X 30% % 63] = 3,600
W) A3 A5 310-01 |30,0009 x 10412k x 129 = 3.600
o kA 310-01 30,0009 X 1047k x 129 = 3,600
2p) 2ol e 210-07 |600,000¢1 x 23] = 1,200
n}h) &< 3] 230-02 15,0009 x40 = 600
2) A7) 0100
7 -3 gE 210—01 20,0009 X 20% X 83] = 3,200
) elzn 210-01 |1,50091 X 2% X 1,000%-= 3,000
h g@= 210-07 |1,000,0009 X 23] = 2,000
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AR S A] 95 CH9)
o A=)
?};3 ﬂg PRSI =_qz Az 20149 (A) | 2013d(B) | Z7(A-B)
2h) A= 210-07 |600,0009 % 23] =
ek, H Ao Y 5]
1) $o3g= 210-01 |15,0009 x 100 =
2) &3 230-02 |15,0009 x 137 x 23] =
Al ALY e 555,867 352,784
NAALE B 555,867 352,784
1 AEAE SR A 4 555,867 352,784
7h. St A A A e
D stwlgA4
7h AL (1) 620-03 31,700,0009=
W) =58t (131) 620-03 |313,400,00091=
th) Z8hw (111) 620-03 |179,000,0009 =
2) WA e gl 210-13 120,020,000 =
3) 2 210-09 |256,467,0009 =
4) 7148 s m A A 53 210-13 |672,0009 x12¢=
EIERE 470,864 A26,464
7|2 S o) 300,941 127,859
PR X 300,941 127,859
1. 71247544 24,880 3,320
7h 71878 Q7m]
1) 7| BAR A G 250-02 |400,0009 x 12¢=
2) 71 F 230-01 |21,000,0008=
3) A EF=A 230-01 [40,00091 X604 =
2. 7132971 182,469 28,567
7t AR 7R (A5 A]
1) AFEE 430-01 |1,170,0009 x5t =
9) g 430-01 600,000 x 3t)=
3) EX 430-01 |1,330,0009 x 1=
4) 7Hu)Y 430-01 |300,0009 x 8t} =
5) T8 7] 430-01 |636,0009 % 1=
. e T2 A Al
D A7NeE 210-02 |4,000,0009 x 129 =
= 7|HF Y - 712G - A S 42/45




(9] - )

colmgl BF | @A | A% AF el == = 20149 (A) | 20139(B) | 27 (A-B)
LN /K]—C‘j /K]—%j A]’Ot] =1 = = =M gui pui [SR=!
2) Ao+ 210-02 [2,000,0009x129= 24,000
3) AT 210-02 |250,0009 x129= 3,000
4) $HEQ = 210—02 1200,0004 x129= 2,400
5) EAZIAQ 210—02 [15,0009 x129= 180
6) FAYETA T 210-02 [32,0009 x129= 384
7) ANAASANAREGF 210—02 [120,0009 X 143]= 1,680
) AARZRIZ 210-02 12,0009 %16 = 192
9) NEGURTT 210-02 [300,0009¥ x 18] = 300
oh, Ao A H 8,090
1) A7 ET= 210-01 [12,0009 x35%Fx12¥= 5,040
2) TAT] 210-01 |15,0009 X708 = 1,050
3) A AN FA K 210-01 |20,0009 x10F % 1038]= 2,000
2h, A g A B 6,690
1) 7|1 EAZFARF 210—13 [120,0009x129= 1,440
2) W7 8 A B4 210—13 50,0009 X 35t = 1,750
3) ol AFA B 210-13 |50,0009 x5t x 23] = 500
4) A71tA BN Frs 210—13 [250,0009 x12¥= 3,000
at. A 34,450
1) 2AAA -1 8 210-13 |750,0009 x 13]= 750
2) Fargd 210—13 1,050,000 x 129 = 12,600
3) ZYIAs 210-13 [300,0009 x 28] = 600
4) A5718- A2 210-13 100,000 x5t x 43]= 2,000
5) AT L= 210-01 |30,0009 x10F x1038]= 3,000
6) =g 210-09 2,500,0009 % 13]= 2,500
7) #H7)EA ) 210—13 200,0009 X538 = 1,000
8) HAFS-= 7z 210—09 1,000,0009 x12¢¥= 12,000
vh, HEAFE Y 21,467
1) 1858 (30,000kme]”d) 210-10 |10,777,0009 x 1th= 10,777
2) U853 (10,000kme]’d) 210-10 |10,690,0009 x 1t= 10,690
Ab A2 7R 18,827
1) AFH 430-01 |1,170,0009 x 9th= 10,530
2) T H 430-01 600,0009 x 2v]= 1,200
WS - wSARE - Ve - VEeYgn] - A uSHEed 43/45




Ay ArE S 20149 (A) | 2013d(B)
3) AR T A 57 1,580,000 x 1t = 1,580
4) 7| E19) 300,000 x 7dj= 2,100
5) #1747 1,117,000€ x 16 = 1117
6) UPSZ A X 230,000 x 10t= 2,300

of. &2 e 27,760
1) FelAun e 180,000 x 129 = 2,160
2) gAY 5,900

7hH 9= 50,0009 x 1189 = 5,900
3) x4 1,600,000 x 129 = 19,200
4) A A H 500,000 x 14 = 500
2}, AAA 9 1,000
) }\138(1)4/\].%03 50,0008 X 4% X 53] = 1,000

2}, ST o g A} 20,0009 X 3% x103] = 600

3. FA718-29 A 189,564 93,592 95,972

7}, w5A st 89,760
1) ohﬂ .‘_?__Og]j] 11,184

7h FA% 210-01 |1,200,0009= 1,200
) 7l 210-01 |416,0009 x 24 = 9,984
2) EuAln) 210-05 |7,0009 % 247 X 623]= 10,416
3) Fa] S Q= 7n] 230-01 |380,0009 x12¥= 4,560
4) o] 62,400
7H =) 220-01 |20,000¢ x 247 x408]= 19,200
) 79 220-01 |60,0009 x 247 x 309 = 43,200
5) AWM FAH-Z=71H) 250-02 |100,0009 x12¥= 1,200
L 34 %) 9 3} 99,804
D k-] 16,176
7P B 210-01 |1,200,0009= 1,200
W A 210-01 |416,0009 x 36 = 14,976
2) EZu2ln) 210-05 |7,00091 X 36 X 493] = 12,348
3) FAl o= A) 230-01 |380,000¢ x12¥= 4,560
4) =rujoin] 65,520
7h 3 220-01 |20,0009 X367 x 198]= 13,680

- lEegul - Agms
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4% A (9] - )

)=]
s Ayl %A% a4 20149(A) | 20139(B) | FH(A-B)

) #e 220—01 60,000€ X 367 X 243]= 51,840

5) A A FR =1 250—02 100,0009 x12¢= 1,200
A 7] BA A 15,600 169,923 A154,323
2 WS A| A H g 15,600 169,923 A154,323
1. G TS HA A 15,600 169,923 A154,323

7}, BAMF-R] T 210-09 [300,000€ X524 th= 15,600

gl — PGV BANAE - A G uFYA L e 45/45




